
 

 

Answer on the Question #67787, Chemistry / General chemistry 
What is the enthalpy change for: CH4 -> C+ 2H2 in kJ ? 

Solution: 

For this reaction: 

Enthalpy of reaction is the difference between the sum of standard heat of formation of products 

and the sum of standard heat of formation of reactants: 

∆𝐻𝑟𝑒𝑎𝑐𝑡𝑖𝑜𝑛 = ∑ ∆𝑓𝐻𝑝𝑟𝑜𝑑𝑢𝑐𝑡𝑠 − ∑ ∆𝑓𝐻𝑟𝑒𝑎𝑐𝑡𝑎𝑛𝑡𝑠 

Enthalpy of the reaction studied: 

∆𝐻𝑟𝑒𝑎𝑐𝑡𝑖𝑜𝑛 = ∑ 2 ∙ ∆𝑓𝐻𝐻2
+ ∆𝑓𝐻𝐶 − ∑ ∆𝑓𝐻𝐶𝐻4

 

Values of the standard enthalpies of formation taken from the CRC Handbook: 

∆𝐻𝑟𝑒𝑎𝑐𝑡𝑖𝑜𝑛 = ∑ 2 ∙ 0 + 0 − ∑ −74.81 = 74.81 𝑘𝐽 

Answer: Enthalpy of the reaction is 74.81 kJ 
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